+5V

R3 R4

2k 2k

JP7
FAULT# _?o? LED \\K D1
+5V JPs
GND % § STATUS# _?o? LED \\K D2
) JP5 JP6 7t
P2k 2k TP1 TP2
JP3
_?? R2 R1 . .
R +5V iy 90ohm differential
E 10 ‘Rl impedance
z = S * JP4
" 100k 100k
2 A T - o VBUS OUT _?F? VBUS OUT
>| C2  10uF c1 b4 <z s [ c3
0.1uF © 2 2 0 3
0—| AU r o 4 s
JP2 [Lda],y = T I 100uF JP1
VBUS [ = N\ LI = VBUS
D- 2 — 21 p-ouT D-IN 1L 21 p.
3 { ) U1 [ ( ) ] 3oy
D+
GND - Nt L2 pour p+in 20— P 41 GND
5 5
USB3_RX- = ILIM SEL 4 g STATUSH# { ) g | USB3_RX-
USB3_RX+ ILIM_SEL STATUSH USB3_RX+
GND ML B Nt Z{ GND
8 zZ F F F 8
5 USB3_TX- [~ i o o o o] UsB3_TX- o
W ysSB3_TX+ P13 USB3_Tx+ 4
& s PI5SUSB2546ZHE@TQFN16 %
i +5V o o o ﬁ_
j— - . - —
= = F F =
> O (@] (@]
R9 100k — CON_USB3.0 TA_RECEPTACLE
CON_USB3.0 TA_RECEPTACLE
GND
+5V =
JP14
Swi1
CTL1 j)p? JP9 1l —=='|2
3 —=— -4
CTL2 _?? JP10 5 6 'b
% == PERICOM : - -
7 8
oTL3 So? P11 = ¢ Emabling Sl Pericom Semiconductor Corporation
_? ? = Size Document Name Rev
im SeL  J J Jp12 A PI5USB2546ZHE_USB SW_EVB_Sch B
Date: [Sheet 1 of 1

Thursday, July 31, 2014
2




